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Read the following passage to ans '
When children develop their mother |

simultancously fostering a whole host of

skills, such as emtical thinking and i

skill-set that take with them ino formal &

research tells us that any skill and concept g |

leamer’s home language don’t need to be re-taught

they transfer to a second language. Language and mot

tongue also play ahuge role in the developmentof personal,
social and cultural identity, Children with a strong

foundation in their first language often display a deeper
understanding of themselves and their place within society,
plong with anincreased sense of well-being and confidence.
MNaturally, this flows down into every aspect of their lives,

including their academic achievement. In all education the 2

primary place should be given to training in the exact and

free use of mother tongue. Mother tongue is the true vehicle®

of mother wit. Another medium of speech may bring withit
a current of new ideas, But the mother tongue is one with
the air in which a man is bom. It is through the vernagulie
that new conceptions of the mind should press their Way to
birth in speech. A man's native speech is almost (ke his
shadow, inseparable from his personality. Ineur way.of
speech, we must , as the old saying runs, drink water outof
our own cistern, for each one of us if a'member of a
community. It is throogh our vermacular, through our folk
speech that most of us anain the characteristic expression

of our natune
31. A man's Indigenous speech is almost like his
(A} soul (B) shadow.
(C) pillow (D) athire

12, Throupgh the vernacular, most human beings

accomplish

sllC EXpPression

3}, According to the old saving, we should drink water

oul of our own
A) packel B tavem

C) a D box

."'J. i1| "'il-”l..'illlllrl. !r-_.i”i"-:-l_ i" the [ree use of Fl'l“'“'”-f
lomgue should be given

4 laci B) primary [
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(B) betievolence

(€1 spite A0 moTose
Mark correctly the plural forms of the following words:
lno., 3441

I ong s
LAY CLops -0 (B) corpora
(C) corpos (D} corpori
4. appendix

(A) wppendizes (B) appendices

(C) appendiexes (D) appendieces
41. cactus

(A) cactuss (B) cacti

(C) cactu (DY cactis

Mark correctly the change in gender of the following
words: ([} no. 42-44)

41, protector
(A) protech (B) protectoress

) proteciress (D} protectum

43, pander
| ll|.| EODEC .I:ll

heiler

duchess

(Contd.)




doe

(B) sow
{C) filly (D) ewe
Mark correctly the synonyms of the following words:
Q. no. 45 & 46)
45, conscientious
(A} serupulous (B) rebellious
(C) mischicvous (D) ridiculous
46. abhor
(A) simplicity (B) boast
{C) abstract (D} detest

Read the following passage to answer Q. nos, 47 to 50:
i The man who perpetually hesitates which of the twa
| things he will do first, will do neither. The man who resolves
uchences s o s e cour g
E - i .“*-“_'-ﬂ“-‘- from opinion to opinion, from plan
e plan an _t eers like a weathercock to every paint of the
gompass, with every breath of caprice that blows/can néver
eca mplish anything great or useful Whimsicality and
i llations are the bedrocks on which the edifice of failure
gonstructed. Nothing worthy, nothing fruitful is born out
@amind thatis like a ship without a radar, drifting aimlessly
e high ocean of life. It is only the man who firstconsuls
ely, then resolves firmly and then execuies his plrpose
pinflexible perseverance, undismayed by those petty
jeulties which daunt a weaker spirit, that can didvance 1o
Binence in any field. The course is 1o be taken wisely
Ermly. Once taken, it has to be pursued with heoric
ation. With indomitable spirit and uaguesoonabte
sstion [0 the purpose, one can conguer (L uni crse.
course is to be taken with
wisdom and hesitation.
eare and Ihuugh[[r:h.‘- action
( braw:ry:m-:j whimsicality.
_.'J firmness and wisdom.

 the passage, an indecisive man is compared to a

‘wall clock. (B) magnet.
: (D) weathercock.

?'ﬂrm spirit and proper dedication, the universe
(B) lost

(D) hired

2 advance to prominence in any field if one
s only.

y resolves wisely.

plans to execuic the purpose prope

olves, consults and executes properly.

rly.

SECTION—II
Language-11—English

Mark correctly the appropriate form of verbs that fit
in the blanks: ((. no. 51-53)
51. Iri a bird, 1 would fly.
A} am
(C) were

{B) was
(D) have been

52, He found the book he J
(A) has lost
(C) had lost

(B) was lost

(D) would have lost

53. Hardly had the girl writing, when the
teacher collected her answer script.

{A) had finished (B} have [imished
(C) finished (D) finishes

Mark the correct spelling from the options given below:
{0 no. 54-56)

54, (A) assimilate

(C) nssimillate

(B} asimiliate

(D) asimilate

85, (A) apalling (B)

appulinng

(C) appalling (D) appaling
56, (A) rojuvinate (B} rejuvenate
{C} mjuvinate (D} rejuvenste

Mark correctly the part of the sentences which has an
érror.- I the sentences-are-correct mark *IV (No error):
(0. no, 57 & 58)
57, Samir hasto trudge over the
A {B)

-tee p_mountain path.
(C)

Mo ErTOE

D)

58, Treasure Island is one of the best pirate stories

LA) B
that ever writlen. No error,
|‘.‘l || | ""I i

Mark correctly the appropriate prepositions that fitin
the blanks: (Q. no. 39 & 60)

59, An application was written to the officer in
pl.ll‘\llill.l(l' =
(A) by

(C) for

the instructions given.
(B) upon

(DY of

60. The distance of the school _ the railwa)
station is two Kilometres.
&) OVEr (BY irom
LA Wl
() on (D

.['L|r11{|.|

213-YJE
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SECTION—III
Child Development & Pedagogy

English Version

61. Learning Assessment I purposelal if
CA) i serves

the teachers

s @ fecdback for the students as well a3

(B) it is done only once at the end of the year.

() comparative evaluotions are made to differentiote
the student’s achievements

(D) it induces fear and stress amu mg the students

62. Which one of the following skills should be stressed
more for mentally under-developed children?
(A} Life skills (B) Adapution skills
(Cy Communication skills(D) Numerical skills

63. A teacher nlways helps the students so that they can
relate the knowledge acguired In one subject with
another subject, It helps in
(A} individual differénce
(B) leamner's independence

iy distribution of reinforcer
(D) correlate and transfer of knowledge

64. In teaching process student’s performanee u‘
(A) dependent variable /(B), independent variable
(C) intervening variable (D) control varisble

65. A collection of a student’s work in an area showing
growth, self reflection and achlevement Is known &8

{A) assessment iB) judml
(C) portfolio (D) comulativ
- 66, Educational Characteristics: Measuring devices:

{u) achievement (1 Examination

(b} learning (II) Assessment
fg) Interest (I} Interview
The matching pair ls—

(A} (a) () (B) (by(II)

(Cy (e}l () (el

67. Inclusion of children with special needs
(A) is detrimental to children without disabilities
(B) will increase the burden on schools,
(C) roquires a change in attitude, content and approach
10 leaching.
(D} is an unrealistic goal,

68, With reference to the gifted learners, ‘acceleration’

means

(A) accelerating the process of their assessment

(B) accelernting the transaction of their scholastic
BCLIvilics

C) promoting them to the next higher grade earlier
than normal learmers
ipeeding up their co-scholastic activities.
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SECTION—III
Child Development & Pedagogy

English Version

69. Four MCQ questions 1, 11, IIl1 & IV are correctly
answered by 05%, 20%, 50% and 85% of stodents
respectively. Other things remaining same the best

question is
(A) 1 (B) 1
(Cy M (D) IV

T0. Sufficient number of questions are set on the same
concept in a test. The test is
(A} achievement type (B) diagnostic type
{C) prognostic type (D} eritenon referenced type

71. Stages of developments are important for a teacher to
(i) produce a comfortable environment for teaching
and learning process
(ii) know and understand the problems faced by a child
(iii} establish an effective communication with the child
Which set (A, B, C, D) of the above statements is
suitable for effective teaching?
(A) only (1) (B) only (ii}
{C) Both (i) and {iii) (D) (i), (ijmnd (i)

72 Though calculator gives the result of multiplication
easily, we teach children lo calenlate manually to:
{A) maintain tradition of teaching
(B) verify the result of multplication
(C) develop creativity
(D) develop thinking & reasoning

51 The stages of 5E as per SE teaching-learning model are
i) Evaluation (i} Exploration
.ﬂabnral.inn {iv) Explanation

| Engagement

The correct sequence of the stages is

MR (1), (id), (iii), (1), (v) (B) (i), (i), (i), (av], (v)
) (v). (3), (1v), (i), (1) (D (v), (iv), (i), (iid), (i)

he cephalocaudal principle of development
gplains how development proceeds from

b differentiated to integrated functions

) head to toe

pural to urban areas

Seeneral to specific functions

Ber is a/an
M¥siological construct(B) innate quality
BCial construct (D) biological entity

25-YJE

Bengali Version
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iv) Fmfe (Engagement)
o == T
CAY (), (), (), Gv, (v (B (), i), i), A1V AV
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SECTION—III
Child Development & Pedagogy

English Version

76. In the context of education, socialization means
(A) adapting and adjusting to social environment.
(B) always following social norms.
(C) creating one’s own social norms.
(D) respecting elders in society.

Teaching of Geography and History of Murshidabad
may be meaningful, quick and interesting if
conducted logether by an approach of
(B) correlation

(C) induction (D) story telling
7%, A child knows 442=6 hut not 4=6-2, The child may
be in the stage
(A} Sensormotor
(C) Concrete operation

Ti.

(A) play way

(B) Preoperation
(D) Formal operation

By the word “individual™ Woodworth has referred to
(A) human body

(B) human mind

(C) human behaviowr

(D) both mental process and physical behaviour

9.

80. Which of these does not imply practical intelligence
in the Triarchic theory?
{A) Re-shaping the environment
{B) Thinking practically about oneself only
(C) Choosing an environment in which you can suec::d
(I} Adapting to the environment

El. “Right to Education Act 2009" has its main objective

to ensure each child in India 6 to 14 vears receives
quality education. The term quality education means
(A) Use of costly TLM

(B) Rote learning

{C) Establishment of relation between classroom and

real environment
(D) Imposed discipline

82. Questionnaire refers to
(A) adevice for securing answers to questions by using a {
form which the respondent fills in himself,

§ o ‘ - |:
(B) adevice for collecting questions from many individuals,

76, e fafErd

77.

&l

B2

Al
B)

(C) a device for collecting response from class-work, )
(D) a device for developing various questions. ®)
83. According to social constructivist theory of Ley 83

Vygotsky, which of the following methods is
appropriate for assessing students?
(A) Standardised tests
(B) Fact-based recall questions
(C) Objective multiple-choice type questions
(D) Collaborative projects

26-YIE

Bengali Version
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English Version

\Cockroach is not bird'. Starting a lesson on bird
th such negative example was discouraged by
{A) Bruner (B) Piaget

(C) Skinner (D) Binet

8, Which one of the following characteristics is not
rélated to organization of co-curricular activities in
school?

&) Educationally relevant (B} Constructive

) Democratic atmosphere (D) Nen co-operation

-
f

' 86. Some statements about children:

(1) Children are passive reciplents of knowledge

s ; {ii) Children are problem solvers

{1y Children are interested In sclentific investigation
{iv) Children are active explorers of the environment
Which set of the above statements is correct?
LAY (i), (iid) and Giv) (BY (i), (it), (ii1) and {iv)
(CY (i), (i) and (i) (D) (i), (ii) and (vl

87. According to Chomsky, an innate capacity to acquire
language is the result of our uniguely human
biolagical inheritance, which iscalled

(A) Language Adapeation Degree

(B) Languige Acquisifion Device

(C) Language Accépiance Desire

(D) Language Acquire Domain

Which one of the following is be-t spited for
emotional development of children?

{A) Democratic ¢lagsroOm environment

{B) No involvement of the teachers as it 1s the task of
the parenis

t{:"; Controlled classroom environment

(D} Aupthoritarian classroom environment

In the case of learning Law of Readiness corresponds Lo
A) schema (B) motivation

L) stimulus (D) response

student modifies an essay in the book and then
jorizes it. This is a process of—
Adoption (B} Orgzanization

imilation D) Accommodation

27-YJE
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84, mﬂrﬁw‘ﬂmﬁrﬁasfﬁmmwm
mmﬂmwmﬁmmﬁtﬁ

(A) TE (B) fermed
(C) fmm (D) fam

45, FmjTeTy FEeOEE AFY anfera fafwive @l
HeTHTErATY ¢

(A) FreTsa g (B) AT
(C) e o (D) swETaraE

(BY (1), (ii), (ii) €22 (iv)
(DY (i), (i) <% (iv)

LAY (if), (iii) @92 (iv)
(C) (i), (ii) @2 (iii)

87, e e wrafirer v s e srwore et
wi S BSleS AeiEE FERTE, At A
(A) WG SEEo=E fed
(B) e wR e e
(Cy s WiaR B fma
() B e T T A

Wit T oo T Peea wpreesrs Faarem won wmsTR
BI7 A TGO P

(A} e sefsifEe oFrE-

(B) Z A [PTE-STeTd 1% wn R (s B w1 we
= - T T 3 A o] Wi

(C) Frafi i offare

(D) cferares Tyastl] offimes

89, frre cora ergfen Rafe Ane Fpaed o=
(&) J:l:.".." (BY ceEst

'(.-| 1.15..'.';---;.,--.-I '-I,]I _.__:"T.._'.'E__._.,

00, awmw FEdl T8-07 TS Ty v ¥R g =
% efewfh wwa— ]

(A) HTE#w By =sfeiEnmee
(Adopton) (Oreamzalion
(C) 'y."’:-i’:.".-.-r.i D) ETETETE
( Assimilation) ( Accommuodation)

(Contd.)




SECTION—IV
Mathematics
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91. Simplify:

S T 1

o B N R e 19 |

b B 5

" oy e A |'1.+.'3!. N il =,

99 10 10_9°9 10 wr 9710 9 10 |9 10
[] 1

1

O T N o T T i S TR s
S L'“m 9t/ \10

(A) O (B) -!%:—} (C) |

1
W AT
L9*9 1w 1 9 9 10”10
(D) 2

EE 7

& ;=
92. In a triangle ABC, AB=AC=20 em. ZBAC = 30°. _92. ABC figre AB=AC=20 1 ZBAC=30"1F

‘What will be the area of the triangle? CEITR W Bk
(A) 200 sg. cm. {(B) 150sg. cm. (A) 200 3G (B) 15035 .:;-ﬁ
(C) 100 sq. cm. (D) 50 sq. cm. (C) 100 @5t (D) 50 A

03, (1-1)=(1- Ll 1- 1)+ l-zpnn-:}m:1-13+41«31-[1-311:1-3}-3x{:|-nx{l'i]xtl-sh
(A ![]-S}x{l-l+l-2+l-3m[1I-I-—I-ZFH]-1—1-}}*+{I-3-1-l}‘] (B) w%u{I-I+]-1+]-3]-:-:{{I-!+1=2F+ll-2+l-3]:+{]-_?|+I-i:

(C) (0-5)x(1-1+1:2-13)¢[ (1-1-1-2+(1-2-1-37+(1-3=F1F} (D) l,}';-d.l-I~—1-2+1-3}xi{i-1—|-2]‘+{l-?—l-3j:+{1-3- 1-1))

o4, Feal fom wvwma w0y 46 aw o o 0 o

94. OF the three different numbers, the product of two
wutmT 42, 84 @ 72 50| Aewy feafbe moA e v

numbers taken at a time in order are 42, 84 and 71

respectively. What is the L.C.M. of the numbers? (A) B4 (B) 724
(A) B4 (B) 724 (C) 420 (D) 504
(C) 420 (D) 504
1 {0.1) = (0,11}
95 . LY 0] = 3 e
SR 3 2x(0.0)+ 01141

M e .
011 0.1 (01)x(0.11)
0.l %11 0.11

(B) §5+0.66+3 ©) §6+03343 D) 5575873

: 0.1
(A) 55+033+3
96, 2 = vdurs Tfe ¢ 3 o AmE e 93 wEE
3wt 6 firs v w09; 3 W opefas fe @ 5w

6 days; 3 men and 5 boys can do ;—3 of it in 4 days. i
A G FEA 113 et 4 e sroet w2, P AT

96. 2 men and 3 boys can do :i of a plece of work in

In what time can a boy do the whaole work?

(A) 12 days
(B) 24 days
(C) 36 days

= FA 9% W9 FE SEA

(A) 12 0=

(D) 48 days (B) 24 FitA
(C) 36 s
(D) 48 s :
97, Simplify:
HaE FEA 3 : ;
PRI T T G R T L T 1]
{q+||H0+l]_1!}..t_;.l*'l_.}J[Ll,‘I_‘i']i[]_I_"?} EJ)
o N L1 1
9711 i1 13 13
(C) 4 (D) 2

(A) 0 (B) 6

(Contd.)
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98. There are two sections inaclass ol a co-educational

school. The no. of students in each section i35, 107
girl students of section A goto section B, the number
of girl students in these two sections are
interchanged. 1f 4 girl students of section B go to
section A, the number of girl students of section A
changes to double of the actual number of girl
students of section B. The number of boys of section
A and B are respectively
(A) 18,11 (B) 24,17
i 17,24 Dy 18,27
99. AB and CD are 1wo chords intersecting at X of &
circle with centre O. Then
(A} AX .XB=CX . XD
(B) AX.XD=CX.XB
({Cy AB.CD= AX . XD
(D) Cx . XB=AB.CD

100, Answering all questions *A’ gets 32, For a correct
answer he has been awarded & marks and his marks

has been deducted by 2 number for each wrong

answer. Again if he has been awarded 4 marks per

correct answer and be deducted 1 mark per wrong

answer, he gets 28, How many questions arc there
in the examination?

[A) 14 (B) 10

(C) 16 (P 12
101, Simplify:

= A |

8.

100,

Bengali Version

gl sefamsrer A s cafers 7 FetA S
B-efefre arred 7 351 o A Bemm 7 o i,
Bﬁﬂwmﬁ?iﬂﬂﬁ?ﬁﬂﬂﬁ@ Al W TR
o | wr o B e som it A Feis =0, TS
A Freer e B e T wiwe feod @l
FurHTa A ¢ B e wizAdT T

(A) 18,11 (B) 24,17

() 17,24 () 18,27

uwﬁam,&nacﬂmqﬁxmrﬁm'
ETErA A

(A) AX .XB=CX XD

(B) AX.XD=CX.XB

(C) AB.CD=AX XD

(D) CX.XB=AB.CD
*ﬁ'mmmmmﬁmuﬂmwm\
aﬁﬁﬁﬁmaﬂimcmlmmwﬁfﬂwtm
wzmmmmm~nﬁaﬁﬁﬁw¢mvw4
mmmmmaﬁﬁqﬂmw1mmﬁem
7, W AT g e T 28 | ofrmtn cal efraE AU
wE
(A) 14
) 16

(B) 10
o 12

225525 x 5,25 3.17 x 1.58) + 3.17(3.17 %3.17-1.58x% 5.15) +1.58(1.58 > 1:58—5.25 = 3.17)
5.25(5.25 = ATy~ 147 AT Vo) 1.58(1.58 =525}

A) 1 B) ¢
2, 1213 and 1231 are two numbers,
{A) First numberis prime and the second is composite,
{B) First number is composite and the second is prime.
(C) Both the numbers are composiie.
(L)) Both the numbers are prime.

103. ABC is a triangle. AP is perpendicular to BC, BQ is

perpendicular to CA, CR is perpendicular to AB.
AP, BO and CR cuts at 0. ZBAC =40°, then £BOC

(A) 80 (B)Y 140"
(C) 110° (DY 40°
104. Simplify:
AT R
33 5. 2.2.2.3.3.3% 3.2 313 3
o - M o O = M (3.3
r "14 E i 1% "_15 ‘;xlx1jqjl4i3-ili xill
________ - [RY) . S S ..
Ilt‘-z';l' | 82833 B
g Bl N G ik Yk Tl e 9
1647 [633
98420 (B) 58430
29-Y JE

102,

103,

() 10

12 13 @t 1231 76 Free)
t‘hl} e m ﬂm l::-‘tﬁ'{ﬂ. A a,;.:-.-,-:_-_is .:',':-I;.,I,_n
(B) Hi=]l '-tﬁ'?' soras .:pn",—”. s e 7;':\'-'-;-.«
(C) A= A e |

(D) Aeam AR clYE )

(L)

ABC figrem AP, BC 7@ Bom 7% BQ, CA-a7 ¥R
':Hil CR, AB-47 Tv@ #%\| AP, BQ) ¢ CR *7>=@ O
s oa¥ #ETe | ZBAC = 40° @R LBOC =TT %

(A) RO By 140
o 110 Dy 40
: 1647 1
(CY ._E.__‘E..: D Ihd
0R320 '} 98320

(Con
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105, 100000+ 10000+1000+100+10+1 - L .

(A) 11111111111 (B) 11111111111

(A) LxiD000+3c 10004321 00+1
(Cy 1000+ I =1004+321 041
107, 101001.01011=
(A) 100000410000 +14 b 4 ks 4 2o
100000~ 10000 100

© Too0w" Tﬁ‘ﬁ””m"m
108. A sweeper is appointed in a condition that he will
recelve wages of Rs. 50 per day for his work, but if
he will absent, he will not receive any Wages and
will be fined Rs. 10 for that day. After 30 days he
has received Rs, 1140, How many days was he
absent?
(A) 9 days
(C) 4 days
109. The distance between % and Y is 270 km. At 9 am
‘A starts from X towards Y and ‘B’ starts from ¥
towards X. The speed of A and B are 50 km in an
hour and 40 km in an hour respectively. When shall
they meet each other?
(A) 11 am.
(C) 1 pm.

110, Simplify:

L SR

0 030,088 ~ Sx0.088  9x0.088x1 055 16 DS
53".“3H— 4#“.““ L OEEY (ILORH =

(A) 0.099 (B) 0.08s
|l}.3'!

(B) 5days
(D) 6days

(B) 12 noon
(D) 2pm

- (0.2): ~+|1].1.;4-I.-I'I.I|--EDJ-I

(A) 0.

‘A" can do a piece of work in 20 days, ‘B’ can doitin
24 days and ‘C’ can do the same in 30 days. They

agree to do the work in Rs. 5,400 and they start the
work together But ‘B’ leaves the work before 2 days
of the completion of the work and *C’ leaves the wnrl':
before 5 days of the completion tllf the work. ‘A

completes the remaining work. What amount has

‘A’ get for the work?

(A) Rs.2,700
[fj Rh. ]F‘l[“:]

112.

(B) Rs. 5,400
(D) Rs, 3,600

05 116  §09- 007 7T

Bengali Version

CEPAL S
10 " 100 T 1000 10000 100000

(Cy 11110101111 (D) 10111101101

106. L“l}“[\* 3 \]1 L a2 2 !
+3% 4_] ( _6) l 3\.( 26 ( 26\' (26
Rl 35) *\63)+3x\435) (6] %) * ik

(B) 13 1 0000+3 100+3= 1041
(D) 15100043 104+3% 10041

1 BT =)
(B) 100000+ 1000 + 1+ 5raa5* 1000 ~ 100

5 R LR s BT
(D) T5000 7660 100 " 1000 + 100000

mwﬂmﬁwmm,aﬁwaw
=, o T TR 50 Tt = o Ty o0 R O
Wmnﬁnﬂm@mmmmw
mmﬁnmlanﬁﬂwmumﬂm:mmwﬁn

108.

=i fame
(A) 9= (B 5=
icy 4= D) 6=
100, X 4y Y -4 ¥ 270 Fafe | e 9BTH A, X (4TE Y-4W

v @t B, ¥ (U X~ e T o uf A e
B-on s U ety 50 e gn whm 40 Tl
o, T NS I AT ETA Y

(A T LT By ®em 12W

() @ W D) PRI

108+ <0088 + 4x 0,094 = 0 OBH
0,190 % 0 088 + 5x0.099

() 099 (D) 0.88

() 03

112, ‘A",'B e'C sard el wrw T 20 i, 24 T ¢
30 firs oo TS AR | T =T 5,400 STEW T
mmm‘mtamm wm ww | g =R O
wenm 2 e e ‘BT e ol o geyr 5 e B

>
g

cﬂﬂwm|zﬁnx o ST
gl Fara O ‘AT T O A
(A} 2,700 57 (By 5,400 %=
{C] I,ﬁ'i]l'fl ! (D 3,604 -l
Il.";lml]-'

30-YJE
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113. A person starts from A at 6 am. towards B and
reaches at B on 10 am. Another person starts from
B at § am. towards A and reaches at A on 11-30 am.
When shall they meet each other?
(A) 7-45 am, (B) 8:26 am.
(C) B-56 am, (D) 840 am,

114. ‘A’ can do a piece of work in 12 days and ‘B’ can do
it in 18 days. They started the work together but ‘A’
\eft 3 days before the completion of work. ‘B’ finishes

the remaining work. The total number of days to

Bengali Version

113, 4we o T 601N, A ¥ (T B YT S
el Ton e 100 B-c2 ¢Hhayre | o ars i Tam
E5TY B g cars A YT TOWC TeR1 T A 1%
30 Rffes A groa o | TR e AW A
(A) e 701 45 T, (B) e 801 26 @
(C) wmm K01 56 2, (D) s 80140 M,

114. @i =@ *A’, 12 e dae B, 18 firs oo saTe “1ia |
dr aaa e on o, fg wref om wewm 3 il
Wit A W (ury vow u | A wrel® (B oo A
g e oom Tre we fim wea e

complete the work is (A) B (B) 9
(A) 8 By 9 (C) 6 (D) 3
(cy 6 Dy 3
115. Find the sum of the following expressions:
Srrea FUTEEI (N W §
3 3. 3,58 . 2 5\{2.2.3 3 5 SUCUASIEEINS 2, 3,3 5. 8
\ L%’i'ixi‘i'i‘h‘ixi]'(i 378"°% a”i”“!"il' [i"s*i‘“a*s 5766
61l 27 23
(A) EE{_] (B) _".Tﬂ" rlC} 30 (D) 1
116. The numbers 7*82, 83%9, 147* are divisible by 9. 116, 7#82, 8349, 147* #vanafe 9 wra freren 7o, fEfere
* marked numbers respectively will be Ao T T
(A) 3,3,5 (B) 4.2, 8 (&) 23,5 (B) 4,2,8
(€ 0.9,2 (DY 1.7.6 (€Y 0,9,2 (M 1,7,6

i17. 2,3,5,7,11,13,17, 19, 23, 29, 31, 37, 41, 43, 47, 53,
59, 61,67, 71,73, 79, B3, 87, 89, 97 are 26 numbers.
(A) Here all the numbers are prime,
(B} Here all the numbers are prime exel ! -of .
{C) Here all the numbers are prime excepbiz o,
(D) Here all the numbers are prime except three,

118. The perimeters of a reciangle and a square are 118

B0 em each. The difference of areas of square and

rectangle is 100 sg. cm, The sides of the rectangle
are

{A) 35cm, Scm (B}
(C} 30 cm, 10 cm
119. Simplify:

32 cm, 8 cm
(D) 28¢cm. 12 em

117, 2,3, 5,7,11,13,17,19, 23, 29, 31, 37, 41, 43,47, 53,

=0 61, 67 71,73, 79,83, 87, 89, 97 awrrst 26 B weare
(A e T5R ey |

(B) " 7 meafE e

(C) 4% arw waafl cfis

(D) Tl =ror el o

. T wrereTE o asfreTE ererafy o 80 ofa
MW (TP ¢ WTTOHTHE ORI sl 100
Al | wrereTEm et el o
(A) 35 fR, s ofm
(C) 30, 10 =

(BY 327, 8§ cof

(D) 28 AW 12 of®

HAW P £
(<5 +527+51) (3+723+1%3) (Gx3+ixi+ix)
G-36-3 (-6 GOEY
(A) ,% (B) 0 ©) '5?_1]5 B8

120, (7-001=1)(7-001+3)(7-001-2)(7-001-6)+96=
(A) (7-000=3)T7-001+2){(7-001P+3x7-001+6)
(C) (7-001+5)(7-001+2){(7-001)*-3x7-001-6)

31-YIE

(B) (7-001=5%7-001+23{(7-001)
(DY (7-001=5%7-001=-23(7-001)

4% 1001 F-.;

1% T001=6}

(Contd.)
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121. The medicinal forest be
! longing to Khasi-
in Meghalava is in : s
(&) Cherrapunji
(C) Shillong

(By Moflong
(D) Haflong

122. Talking during eating may sometimes lead food
particles to enter into the windpipe. Thereisa flap-
shaped structure that prevenis food particles from
entering the windpipe and lungs. This flap like
structure is called

(A) Tonguoe
(C) Pharynx

(B) Epiglottis
(D) Glouis

123, 5.1. system of units has
(A) three base units and one supplementary unit.
(B} five base units and one supplementary unit.
(C) seven base units and two supplementary units.
(D) seven base units and seven supplementary units.

nother's nails have become
worried. This condition

124. Shreya noticed that her
spoon-shaped. She is really

may result from:
(A) Cholera (B) Anacmia
| (C) Fever (D) Malaria
125. Where we get maximum cotton of 1 kg by the help
of Spring Balance at
(A) Pole (B) 45° Latitude
(C) 457 Longitude {D) Equator
126. Which of the following is the valid reason for Solar
Eclipse?
(A) Earth between Sun and Moon
(B) Sun between Earth and Moon
(C) Moon between Sun and Earth

(D) Inany condition no three are same line

Which metal remains liquid in room temperature?
{A) Sodium (B) Magnesium
(C) Mercury (D) Lithium

127.

Which of the following diseases is caused due to the
poisoning of mercury present in soil?

(A) Itai-itai disease (B) Minamata disease

(C) Dyslexia (D) Albinism

128.

32-YJE

:J.

Bl

Bengali Version

ey G CET g ae T AT
(B) EE -

(D) TR

121, ceareTER 4
(A) Eefere
(C) Fm-g

123, 8 . ogfEre b @ T
) foufl g g A gl e
\(B) ol I G LT a5 AEEE 9 |
O el TE 4 4T o} O LT
(D) el L T el I S

S |

124. mmmmcﬁmmﬂﬂﬁmrquimw

ootre | 7 B o) A% wayg F AT WE AT
(A) FTET (B iR

(C). 5 (D) s

125. ﬁmmmmmﬂmwcﬁmwm?

() camne (B) A5° =we
§C 4 5% TR (D) Faaem

126. 4 swererm e ey fim foefu =t
(A) #ffE® e vl 6 bips TR )
(B) 7 wm b 6 ffedE WA |
(C) Bm < opl e offedim TR
(D) oW wgm e ol AR 40

127, TR TN TEE WITE (I WTE R

(A) FHfERm (B) e
(C) #r™ (D) Torfumm

128, T o e sl Bt e ffa cor®

mr
(A) TR OR @ (B) Tawmaf canst
(C) femmmmifarm (D) =yfafE

(Contd.)
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English Version

129, The distance between Earth and Moon is about
(A} three lakh kilometer

(B} four lakh kilometer

() five lakh Kilometer

(D) six lakh kilometer

130. Enzymes are secreted from different glands of the
digestive system to aid in the digestion of food. Which
of the following enzymes is secreted by the intestinal

gland?
(A) Erepsin (B) Chymotrypsin
(C) Pryalin (D) Pepsin

131. Which of the following would you cite as an example
of ex-situ conservation being a teacher of

Environmental Studies?
(A) Zoo (B) National Park
(C) Sanctuary (D) Biosphere Reserve

132. What is most desirable way to control soil pollution
and as well as maintain fertility? y
(A) Application of Chemical fertilizer
(B) To keep land fallow for a few years
(C) To apply compost and organic manure
(D) ‘Thum' cultivation where ashes from trees make
the soil very fertile

k1
133, Galaxy is actually
(A) the transitional day between.
Shuklapaksha.
(B} the seasonal boundaries:
(C) the effects of rotation,
(D) an assembly of a lot of star-worlds ir cluding solar
system.
134, Chandraketugarh (now ruins) was formed on
{A) the Ichamati basin
(B} the Churni basin
(C) the Jalongi basin
(D) the Bidyadhari basin

135. Why did Afsana Khatoon receive the presidential
felicitations on May 14, 20092
(A) She discarded her own child/juvenile marriage by
protesting publicly.
(B) She protested against unlawful child labour.
(C) She saved a juvenile girl from being attacked by
goons,
(D) She got a sexual molester arrested by the police,
:136. One of the diseases caused due to air-pollution is
' (A} Silicosis (B) Minamata
(C) Blackfoot (D) Encephalitis

J33-YJE
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129. «ffed cares brova ey o
(A) fomt o Rermfilbm
(B) 5@ 77 Reremfitra
(C) s 75 ferafatra
(D) = 7% Rrmfite . LN
! sifEoite FaE o o TLEA
A ;:wwﬁwmﬁsﬁrﬁmﬁmtwwﬁmﬁvﬂ

TR mEE e
(A) BfasiBm (B) ®Rni=m
(C) Braffem (D) coAeifm
131, wiferamfamm s/ ffie fare wref fefeafe cml
w55 Awmrem Trread e o
(A) PBfem=m (B) o W
(C) ==uRy (D) It s

132, fira TawmiiE Tum arre v yies! que Forge =
i T

(A) T A =

(B) e o oca win sfaere s aefes afemm Taw

kL
(€) D @ e W TR

(D) ez Sehi (800 Ao 0 w72 Bevin o wra frera
M Baet 5% (& )
133, wHiod egeers
(A).- v & opeiomy Fa Fofy am |
(B) 2l =gz i fioin wre

D) CTIEN &I WA e e A o
=)

134, varegnes (363 sitarm) wfuy Trsfem
(A) Burard) e warfimn o
(B) Bt st waaifen
(C) =% 58 waafian
(D) Ry 28 weaifan

135. S 4rgw 2000 Hiem 14% & (2wt
wrEw confRrEm ¢ -
(A) Fres awefam fime TR wfeam w |
(B) Freufierm wmrmey ar AR Fowrm eifam

s .

(C) o et raferen wemmers 2re cir Fiormferem |
(D) 9% @fisead afers A i Traferem

136. THTIR A % 93l canet o

(A) FifFmfm
(C) AT

(B) Tmraist
(D) sstare=Ehy

(Contd.)
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137. Which salt i
sall is used in Mid-day
) Ny i
(C) MgCl, (D) CaCl,

138. Soil washed awa
y by running water is
(A) Regolith pes o

(B) Soil
(C) Eluviation ! profe

(D) Muviation

139, As ateacher of Environmental Studies, which of the

following physiological processes would you cite as
an example of catabolism?

(A) Respiration (B) Nutrition
(Cy Photosynthesis (D) Growth

140, Given other circumstances constant, the relation
between the level of underground water and rainfall
is
(A) simplefregular

(B) opposite
(C) proportionate

(D) inversely related

’ ' 141. The disorder of eye in which distant objects appear
(' blurry but near vision is normal, is called

(A) Myopia (B} Hypermetropia
y'/ (C) Cataract (D} Presbydpia

142. Jan 26, 1950 is celebrated as the Republlic Uy
because on that day
(A) India got her freedom as & Separale counu,;
(B) India and Pakistan were tresited as two separate
countrics.
(C) Indian Constitution was granted as the country’s
own law syslem.
(D) Jawaharlal Nehru became the first Prime Minister
of India.

143. Among the following which one is the best conductor

of electricity?
(A) Ag (B) Au
(C) Zn (D) Cu

144. One liquid non-metal is
(A) Mercury
(C) Carbon

(B) Bromin¢
(D) Sulphur
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SECTION—Y
Environmental Science

English Version

145, Different parts of plants are used to prepare
medicines. As for example, reserpine is used to
reduce high blood pressure. Reserpine is obtained
from the roots of which of the following plants?

(A) Datura (B) Tobacco
(C) Rauvolfia (D) Coffee

146. The river Ganga is known as river Hugli at
(A) the confluence of Damodar and Bhagirathi.
(B) the confluence of Rupnarayan and Bhagirathi.
(C) the confluence of Haldi and Bhagirathi.
(D) the confluence of Ajay and Bhagirathi.

147. As a teacher of Environmental Studies, you have
shown the pictures of the following animals to your
students. In the list, which of the following animals

is mot an invertebrate?
(A) Sycon
(C) Cuttle fish

(B) Jellyfish
(D) Shark

148. Rita taughi her students about tuberculosis. The
causal organism of this disease eniers the human
body through lungs. Which of the following is the
causal organism of tuberculosis?

{A) Salmonella (B) Myeobacterium
(C) Fungi (D) Clastridiu:

149. [t takes more time to cook meals on a hill station.
The reason is due to
(A) less humidity
(B) low pressure
(C) cooking is difficult at high altitude
(D) low temperature

150, Why on hills than on plain tennis balls bounce
higher?
(A) Less weight of the ball
(B) Nature of surface not plane
(C) Less gravitational pull
(D) Atmospheric state changes continuously
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